Solve: 3:c+6y—|—9z:a_7
4 + by + 62 =3
c+8y+92z=0

/__N.

1.5: A system of equations is homogeneous if b; = 0 for all 3.

a1 aigs ... Gip 07
a1 Q2 ... a2, O
_aml amz coe a/mn 0_

A homogeneous system of LINEAR equations can have
a.) Exactly one solution (x = 0)

b.) Infinite number of solutions (including, of course, x = 0).

Solve:
4x + 5y + 6z = b
Tx+8y+ 92 =b3

where 1la.) by =0, by =0, b3 =0
1b.) b1 =0, by =3, b3 =0
10.) 61:6, 52:5, b3:8
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éow—reduced echelon form (unique):

S i

i.) The matrix is in echelon form.

e il

ii.) The leading entries are all equal to 1.

e

iii.) In each column with a leading entry, all other entries are

Z€Tro. '
=

REQUIRED METHOD:

D To put a matrix in echelon form work from left to right.

nd

@To put a matrix in row-reduced echelon form:

i.) First put in 1 echelon form (work from left to right). —>

ii.) Put into reduced echelon form (work from right to left).
e e

You may take short-cuts, but if your method is longer than the
above, you will be penalized grade-wise.

Every matrix can be transformed by a finite sequence of elemen-
tary row operations into one that is in row-reduced echelon form.

Echelon form is not unique, but row-reduced echelon form is ‘\Q

unique. \
‘\“

A system of LINEAR equations can have \("

f i
i.) No solutions (inconsistent) &e— B

ii.) Exactly one solution e— Ao free V”M—';LZ‘ CN;(}‘[(\/
iii.) Infinite number of solutions. ge— Lloe leé,é ”
| | Y/
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